Staff Selection Commission
(Government Of India)

QID : 1 - In the following question, select the related word pair from the given alternatives.

1) Rice : Food

gIdel : Gl

2) Grey : Colour

ol : T

3) Heat : Sun

IqH 'H;II'

4) Snow : Mountains 9% : 9dd
Correct Answer: Heat : Sun 9TH :
T

Candidate Answer: Heat : Sun 3TH :
9

N
QID : 2 - In the following question, select the related word from the given alternatives.

Cactus : Plant : : Rice : ?

AATGA  HAGUIATTH TH A S U UG H F AT

Feg:olen:  gga:?
Options:

1) Basmati

STHAIT

2) Crop

lerercy

3) White

e

4) Rabi

T

Correct Answer: Crop
Bl

Candidate Answer: Crop
Bl

QID : 3 - In the following question, select the related word from the given alternatives.

Pink : Colour : : Eagle : ?

AATTA  HEUIATTH TH Y U A& H AT
et

2
:i"T::'JTs':?

Options:



1) Black
el
2) Symbol

5

3) Bird
T

4) Sky
3ATRIRA

Correct Answer: Bird I
&y Candidate
Answer: Bird T <

QID : 4 - In the following question, select the related letter pair from the given alternatives.

AATGT  HAGUIAVIHIHA Y TS T I AR AT

Options:
1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC

Correct Answer: EAT : YUN

Candidate Answer: [ NOT ANSWERED ]

QID : 5 - In the following question, select the related letters from the given alternatives.

LERI: PJVN : : MONT : ?
ATTTA  HEUIATTH IH A TS & JTH AT

LERI: PIVN : : MONT : ?

Options:
1) WRTY

2) QTRY

3) RITY

4) RQYB

Correct Answer: QTRY

Candidate Answer: [ NOT ANSWERED ]

QID : 6 - In the following question, select the related letters from the given alternatives.

SAT : WEX : : MET : ?
AATGT  HESUIACGh TH J T & TR G AV

SAT : WEX : : MET : ?

Options:



1) AQl
2) IYX
3) FHY
4) QIX
Correct Answer: QIX

Candidate Answer: [ NOT ANSWERED ]

QID : 7 - In the following question, select the related number from the given alternatives.
43:7::23:?

AATTA  AGUATTH T H & 6 U § AT H F AT

43:7::23:?

Options:
1) 6

2)4
3)7
4)5
Correct Answer: 5

Candidate Answer: 4

QID : 8 - In the following question, select the related number from the given alternatives.
38:53::53:?

AATTA  AGUIATTH TH U 6 & § AT H F AT

38:53::53:?

Options:
1) 72

2) 68
3) 79
4) 87
Correct Answer: 68

Candidate Answer: 68

QID : 9 - In the following question, select the related number from the given alternatives.
9:81::11:?

AATGT  HEUIATTh T H Y el &l H I H AT

9:81::11:?

Options:



1) 78

2) 93

3) 121

4) 146

Correct Answer: 121

Candidate Answer: 121

QID : 10 - In the following question, select the odd word from the given alternatives.

GGECEEGE Hmquﬂﬁm?raaﬁgml

Options:

1) G

oggle Iy

2) P

urse 98

3) A

ccessories

HEII HIH

‘T

4) B

et T

Correct Answer: Accessories Hgldh
JH ‘T

Candidate Answer: Accessories gl
JH ‘T

QID : 11 - In the following question, select the odd word from the given alternatives.

AATGT  HEUIV dh TH Y IVH A& H AT
Options:

1) Gr

apes 379T®

2) Gu

ava AT

3) Ca

uliflower |

el

4) Or

ange TRT

Correct Answer: Cauliflower
CCIIE

Candidate Answer: Cauliflower

ECIE:

QID : 12 - In the following question, select the odd word from the given alternatives.

AATTA  HAGUIATCIFHF IH Y IIH AGH AT



) Sparrow T
Bl
2) R
at gl
3) o}
strich
AT
a) P
arrot aYar

Correct Answer: Rat TgT

Candidate Answer: Rat TgT

QID : 13 - In the following question, select the odd letters from the given alternatives.

dATTT@T HEU AV aeh I H F aUH JTH AT

Options:

1) GCXTO

2) KGBXS

3) RNIEX

4) QMHDY

Correct Answer: RNIEX

Candidate Answer: [ NOT ANSWERED ]

QID : 14 - In the following question, select the odd letters from the given alternatives.

AT HEUIAVTH TH Y VA JIH A0

Options:

1) SOKG 2)

AWSO

3) RNJF

4) CYTP

Correct Answer: CYTP

Candidate Answer: [ NOT ANSWERED ]

QID : 15 - In the following question, select the odd letters from the given alternatives.

AATGT  HEUITTH I H G qGH HTH AT
Options:

1) KNQ

2) DG

3) WzB

4) TWZ

Correct Answer: WZB

Candidate Answer: WZB

QID : 16 - In the following question, select the odd number from the given alternatives.

ATATTT  HEUIACTH TH Y IH G ATH AT
Options:

1) 7-11

2)12-16

3) 14-18

4)9-15

Correct Answer: 9 — 15

Candidate Answer: 9 — 15

QID : 17 - In the following question, select the odd number from the given alternatives.

ATATTT  HEUIACTH TH Y IH G ATH AT

Options:



1)2-4

2)3-9

3)4-18

4)5-25

Correct Answer: 4 —18
Candidate Answer: 4 — 18

QID : 18 - In the following question, select the odd number pair from the given alternatives.

AATEA HAGUIATIHFIH W IVA AT AR I AT
)76 -42

2) 92-20

3) 73-21

4) 93 -27

Correct Answer: 92 — 20

Candidate Answer: [ NOT ANSWERED ]

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

. Flagrant
. Flavour
. Flatter

. Flick

. Flawed

u s WN R

TS o Tl A S T A SN H T dTel H o AR o

. Flagrant
. Flavour
. Flatter

. Flick

. Flawed

s WN R

Options:
1) 13254

2) 31254

3) 23541

4) 32541

Correct Answer: 13254

Candidate Answer: 31254

QID : 20 - According to dictionary, which of the following word will come at THIRD position?

. Heritage
. Helpful
. Hectic

. Heroic

u s WN R

. Heroism
o ST o 3T, o o1 o Wel 7 el TT 20 & R YTeT T 31T

. Heritage
. Helpful
. Hectic

. Heroic

. Heroism

s WN R

Options:
1) Hectic



2) Heritage

3) Heroic

4) Helpful

Correct Answer: Heritage

Candidate Answer: Heritage

QID : 21 - From the given alternatives, according to dictionary, which word will come at LAST position?
EU AT TR T H W, A GhI o 3TAR, hieT TT & 3 T3 UTel T 3TM?
Options:
1) Juvenile
2) Justify 3) Judge 4) Justice
Correct Answer: Juvenile
Candidate Answer: Juvenile

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

F,M,T,2,H,0
Teh 37e] ST IATE, STHH A Ueh 9 of o § | ST IV doh I H A T8 HeY aoh T AT, S
H A B QR

F,M,T,?,H,0
)B
2)C
3)A
4) D
Correct Answer: A

Candidate Answer: A

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ROK, LIE, FCY, ZWS, ?
T F AGATIATY, STHA A U TG I §| GUIATTH T H A T Wl o T g
T, S 3] H B R

ROK, LIE, FCY, ZWS, ?

Options:
1) LAQ

2) SRV

3) TQM

4) FMQ

Correct Answer: TOM

Candidate Answer: TOM

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FAQ, LGW, RMC, ?, DYO



Teh 3] H SATIRATE, SFHA A Ueh UG o] A ¢ | U I e T 7 A g el aeh T G A, Sl 37 H BT QA |

FAQ, LGW, RMC, ?, DYO

Options:
1) VIR

2) Xsl

3) LsI

4) MIS

Correct Answer: XSI

Candidate Answer: [ NOT ANSWERED ]

QID : 25 - In the following question, select the missing number from the given alternatives.

14, 22,49, 113, 238, ?
AATGT  HEUIATTH I H Y T 37 o7 F 50|

14, 22, 49, 113, 238, ? Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454

Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In the following question, select the missing number from the given alternatives.

42,21,21,31.5,63,?
AATGT  HEUIATTH I H Y T 37 o7 % ST

42,21, 21, 31.5, 63, ? Options:

1) 169.75

2) 157.53) 152.5

4) 126.75

Correct Answer: 157.5

Candidate Answer: [ NOT ANSWERED ]



QID : 27 - In the following question, select the missing number from the given alternatives.

14, 44, 135, 409, 1232, ?
AATTA  AGUIAT TS T H A o of 3 ofd F T

14, 44, 135, 409, 1232, ? Options:
1) 2962 2)

3340

3) 3702

4) 3406

Correct Answer: 3702
Candidate Answer: [ NOT ANSWERED ]

QID : 28 - E is sitting between D and A, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting third?
E,DIRAFTTISTE, B, AR ST EAI 3R E, C, TH T W 3R C 3R D Th M F A A IS § | IR 1A W HleT FaT 82

Options:
1) D

2)A
3)B
4)E
Correct Answer: E

Candidate Answer: E

QID : 29 - Showing a photograph of a married couple B said that the gentleman in it was his father's father and A said that the lady in it was her mother. How is A related to B?

Teh T, YET 513 T BT ST T B & gl o SHH St H Te1 § 3 3Heb Tl o6 Il A AR A A FgT & SqA S N Tg 3qF AT M| A, B A HF oG el Ul §?
Options:

1) Ais B's mother's sister

A BHATHTEAL

2) Ais B's sister

A BHTETE

3) Ais B's Father's sister

A, BHFIATHTEA &

4) Ais B's mother

ABFHATE

Correct Answer: A is B's Father's sister

A BHIATHTEA &

Candidate Answer: A is B's Father's sister
A BHFUMHTEAL

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.

MERCANTILE
AT TG dh TH Y g A S AT S GU AT A& oh 3 T 0 FT $:3eh 776
SATIT ST HehdT:

MERCANTILE

Options:
1) truce

2) learn



3) trace
4) claim
Correct Answer: truce

Candidate Answer: truce

QID : 31 - If OLYMPUS is coded as MJWKNSQ, then how will TEN be coded as?
T & OLYMPUS T SIS H MIWKNSQ TTET STT & Al TEN T SIS 7 T o@3T?

Options:
1) RCL

2) GVM

3) SDM

4) UFO

Correct Answer: RCL

Candidate Answer: [ NOT ANSWERED ]

QID : 32 - In a certain code language, 1875 means 'wound the round watch', 6143 means 'a cake is round' and 7321 means 'watch a round wheel'. Find the code for
'watch'.

FOra d IS HINT 7 1875 EFTEH?I% 'wound the round watch', 6143 ?=FT3-T%T%L 'a cake is round' 3R 7321 EBT}T%T% ‘watch a round wheel'| 'watch' & oTT FI5 <Td FT|

Options:
1)1

2)8
3)5
4) 7
Correct Answer: 7

Candidate Answer: 7

QID : 33 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

96x4+125+25-5=7?
FHT THRSHWH '+, - WG ATIATE, -, X P ATHATE, X, '+ P S AT FATE 3R '+, + A g AT AT | Ao
ERCGH FI3T T F?

96 x4 + 125 + 25 - 5 = ? Options:
1) 23

2) 24

3) 50

4) 8

Correct Answer: 24

Candidate Answer: 24

QID:34-1f17$22=4and 56 $ 13 = 7, then find the value of 71 $ 25 =?

Tg17$22=431R56$13=7,dr71$ 25 = ? ST AT <1d I ? Options:

1) 56
2) 96



3)1

4) 8

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID :35-If AS B means Ais son of B, A# B means A is brother of B and If A * B means A is father of B, then what does X #Y * Z $ W mean?
TETASBHRIITETHA BHYE, A4BHHATFHA BRI ASE IR TATA*BHTHYRFHA, BHRTATRAIXAY *Z$ W HT AT 3T E?

Options:
1) Wis X's brother's wife

WXFASFIAE

2) Wis X's wife

W, XFTAE

3) W is X's mother

W, XFHTE

4) W is X's sister

W, X FHTEA 8

Correct Answer: W is X's brother's wife
WXF IS HFIATE

Candidate Answer: [ NOT ANSWERED ]

QlD:36-

Select the missing number from the given responses

g g farepet % & o @ g

1

10
12

V(NP

Options:
1)3

2)9

3)-3

4) 11

Correct Answer: 11

Candidate Answer: 9

QID : 37 - Which of the following terms follows the trend of the given list?

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
o of Tl 7 @ el TT 9 ¢ I Gl & H o6 AR 82

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,

Options:



1) XOXXXXO
2) XOXXXOX
3) OXXXOXX
4) OXXXXXO
Correct Answer: OXXXXXO

Candidate Answer: OXXXXXO

QID : 38 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it turns right and
walks 3 cm, then it turns West and walks 15 c¢m, then finally it turns to its left and walks 2 cm. Where is the ant now with respect to its starting point?

T
& o7 ofeh ¥ T % GG 1 31 I+l X TET & | T T WAl 3BT 5 FE HIeX 3T o AR el § 3R TR T & 8o IR HFH 11 HE HeX TeAcll & | B Tg IoT: & 8l 3R 3o 3
AT TANE IR IET A F INHSH 15 T H Tolcll &1 3l 7 T 301 A1 3R F3 § 3R 2 Fe e Tofcl &1 77 319 3190 o} 87 T T § gl 87

Options:

1) 4 cm East

4Fe A @

2) 26 cm West
26HCHRIT H

3) 4 cm West

AFgTHIRT H

4) 26 cm East

26 e A qa

Correct Answer: 4 cm West
4gcHIIT A

Candidate Answer: 4 cm West
AFTHIRT H

QID : 39 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the meanwhile Player B runs 6
km South, then he runs 3 km East, the he turns to his left and runs 19 km. Where is Player A with respect to Player B?

2 G Tallel Gelrs! AT & Ueh
BT W 2l R A § | WeATST A, 10 FellHIER qd & 3R Slsal & 3R 0 o1 3 e 13 helliel SIS 8| 3 THT TS B, 6 FHellHe & U1 3R T &
TUTH 3 FHollHATET Id o 3R Telcll & R B 37011 o 3R HSH 19 FHellee alsall & | TellsT B 3 TEsT H Tellsh ATE &2
Options:
1) 7 km West
7 FHAHCTH
2) 7 km East
7 Fell e qa
3) 13 km East
13 HeAHIT g
4) 13 km West
13FAHAITH
Correct Answer: 7 km East
7 FHellHAe g
Candidate Answer: 7 km East

7 Fell e qd

QID : 40 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some chapters are physics
Statement II: All science is physics

Conclusion I: All science is chapters
Conclusion II: Some physics is science



A& HYUA Y I § ST MV & 7 Y | 3T 1| SThTe! I | 3TIH AT & & &Il HUF T T § TIE Ig TATIT: TT T T A T NT 81T § | TIPS T § & 6T T
AFTAYFAA/FTTT T T Y FUT SR TET AT S Gl &/TFS €, T PS &

FUA 1: T H I A T § FYA 1: TN T o TR Y

AFT TN T T FITE A
FAN:F M TR TG

Options:

1) Only conclusion | follows

FIATADY | TG &

2) Only conclusion Il follows

FIAARY | TETE

3) Both conclusions | and Il follow

aATAHFY IR ITEE

4) Neither conclusion I nor conclusion Il follows
AT AT HY | TEI g ATET T Y Il

Correct Answer: Only conclusion Il follows &
JATFY || FETE

Candidate Answer: Only conclusion Il follows &

TAT Y || TETE

QID : 41 - In the question three statements are given, followed by three conclusions, I, Il and Ill. You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory
Statement II: All luck is success
Statement Ill: Some hard work is luck

Conclusion I: Some success is hard work
Conclusion Il: Some hard work is victory
Conclusion Ill: No victory is luck

A N YT A I & THH I AT T FT, 11 33 111 7Tl T § | 3R ATAATE & A FAT T T § TR T8 AT IT: T T T A H AT 8T § | 3T 50T AT § & T 1T
APTHAY PT-TAYPT-AT T T Y FUT ORT TG AT oI Gl &/Thc 8, T S HIS BT

T |: T ABAT T & FYT II: T HT T Tholcll & FUT III: FS HgAT AT &

THY1: F S ABeAA Agelcl § T
FY II: T S Ageld Tholdl § T
FY: RS TAT TG §

Options:

1) Only conclusions | and Il follow

FadTHY IR NTHE

2) Only conclusions Il and Il follow
FITTRT NN TEE

3) Only conclusions I and IIl follow
FIA AR IR TETE

4) All conclusions I, Il and Il follow

dFTHFTL 13RI TEE

Correct Answer: Only conclusions | and Il follow &

AT RT3 ITETE Candidate Answer: [ NOT
ANSWERED |

QiD:42-



Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fer=rferRad TR aMTpfar § § I |1 o U 1Y Uy
3TTEIeT H el T A 1T 8T T FehelT?

O
+ | X|O| X

Options:
1)

&

2

&

3

=

4

=0

Correct Answer:



Sty

Candidate Answer:

>

QlD:43-
Which of the following answer figure patterns
can be combined to make the question figure?
frfoRad ST el 3 & i & uftreal @r
ey T T Trar AT Y G ST e 82

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]



QlD:44 -

In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieticians who
are not men?

frrforRact for & o, sidsered oY e s 8,
Pyt At a6 a1 nafia avar 8, g SRy
Y 31k st gost @Y efia @var 81 s &1 i 1
TR I ST B Fafif v

2 St gy 7 €2

© Agfex

Options:
1) EFGI

2) BDKHJ

3) IGAC

4) DEJI

Correct Answer: EFGI

Candidate Answer: EFGI

QlD:45 -

Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?

fr=forRRad & 1 a1 9 for ferdferal, SHeRT ik et
& i Gee SATAT 82



Options:

©
e
O
&
S

Correct Answer:

©

Candidate Answer:

©

QID : 46 -



Which answer figure will complete the pattern in the
question figure?

frr=rferRae & & -t ITR s1repfcr wer e & ufereg

T
"

1)

2)

3)

4)

Correct Answer:

Candidate Answer:



QlD:47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<1 Rt SR iRl F § 39 SRy T Y R g
3Ty ff &1

Y

Options:
1)

2)

3)

4)

Correct Answer:



Candidate Answer: [ NOT ANSWERED ]

QlD:48 -

2)

3)

4)

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

o JMpicrl A AT SR BRI BT HIGBR ITH
B R T FieT & 1S I8 b IR ATPIeT ST
ferag <2




O=0

IR

o=0o

Correct Answer:

00%
O O
%o

Candidate Answer:

209
O O
N

QID:49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

Ife Tep 4T Y MIN T IR I@ET 91T ar & it S99

3ITpTer H & bI-T 3TTpfer I3 JATHIer BT Fel
mfefersy gt

2,

Options:
1)

2)



3)

4)

ct Answer:

Candidate Answer:

QID : 50 -



A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'C' can be represented by
43, 41 etc and 'O’ can be represented by 97, 78 etc. Similarly, you have to
identify the set for the word ‘SPAN'.

U% 965 paict U HEAT-AE EINI ST 74T 8, ST & el 3 3 ol v o
feam arr 81 faeat ¥ R g wer-we s & < i gy vy g €, S f Ry
T ST 3TeE! 3 &1 3ME-| &b T 3R vifeh Bl &4 0 A 4 3R e BT 5H 9
1 S STEHET W U 318 P Geet SHI Ufth ST aTa o W AT FRT 5T
G 81 ITER & 17 'C” Y 43, 41 T TR AT ST e & AT O” B 97,
78 aife; gy ST 5 wedT 81 $¥t avE W e Y A R aes 'SPAN' & farg
R P qEdHT B

Matrix | - Matrix 1l ATGE
0 1 2 3 4 5 6 7 8 9
0 M M M | E 5 N v Q u S
1 A M ] | A 6 R S T U N
2 F I M | 3 7 9. Z X o v
3 | J A L K 8 X S P w P
4 D C A C L 9 u X (s} Y Y
Options:
1) 66,87,33, 56

2) 59,78,42,31
3) 86,89,32,55
4) 78,43,22,98
Correct Answer: 86,89,32,55

Candidate Answer: 86,89,32,55

QID : 51 - Preliminary expenses are the examples of

CRART___ P 3GEI0TE |
Options:

1) Capital

expenditure “\I:Gﬂ?THII'

2) Capital gain

GSTaTe oITe

3) revenue
expenditure T T I

4) deferred revenue
expenditure TITT AT T T

Correct Answer: Capital expenditure el;Gﬂ?H

T
Candidate Answer: [ NOT ANSWERED ]

QID : 52 - Which economic activity cannot be included in the tertiary sector?

itk < H ahleT T 3T Ueh 3T T T & AT Hl ofg o oIl Hehcll?
Options:



1) Working in a call-centre
el FEX H FII AT

2) Tuition occupation
0T TET
3) Bee-keeping mgwrsﬁ
YTefeT
4) Banking & shdT
Correct Answer: Bee-keeping 3:[?:1?:!'
dr qrerel
Candidate Answer: Working in a call-centre FieT

T H h1d hisT
QID : 53 - Which of the following statement is true for the Public Sector Unit?

T T G H Y PleT T HYA Ao 1 > F Fahls & T Tel 87
Options:

1) Most of assets is owned by a group of people 3T

T T THT 1 ATH T AT & THG & IH
grar % 2) Most of assets is owned by big companies

37 I T IHT TN FIAT H AT T T H BT

% 3) Most of assets is owned by government 37

I T THT TP AT HTHENE

4) Most of assets is owned by an individual
NUFAIET TTH SIS

Correct Answer: Most of assets is owned by government 31
YR T T I TRART AT HTHEIN g

Candidate Answer: [ NOT ANSWERED ]

QID : 54 - The percentage of India's population in the total population of the world as per 2011 census is:

2011 & SI=TITOTHAT & 3TeTHR TR o STeTH 3T d & STold AT oh Thelel AT 82

Options:

1) 17.5%

2) 18.01%

3) 19.35%

4) 20.25%

Correct Answer: 17.5%

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - Which of the following five year plan of India recognized human development as the core of development efforts?
AT TGT A Y HF AR TIITY I AToTelT of THT ThIHT 7o ATH & TR o T H AleAd aohrd &l ATAATE, ?

Options:

1) Eighth five year

plan 33T GTdY F JSTAT

2) Ninth five year

plan AT TG T ISt

3) Tenth five year

plan &89 9IAY I AT

4) Eleventh five

year plan IR GIaY I

Trster

Correct Answer: Eighth five year plan 3Tod

Jgay I Jiotelm

Candidate Answer: [ NOT ANSWERED ]



QID : 56 - Which of the following thinker is associated with "the concept of political sovereignty"?

SoTH A hieT TR “TSTall cleh 88 <1 o Heh Tell” T T o el §2

Options:

1) Macl
ver ﬁaﬂ%ﬁ'{

2) Socra
tes T

3) Rous
seau &Y

4) Plato
oer

Correct Answer: Rousseau AT
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Who said, "A good citizen makes a good state and a bad citizen makes a bad state"?

oY T T, ‘Teh 37 O AT T Ueh 37 ©T T & FoATT § 3N SR 4197 3 T JU T F AT 82

Options:

1) Pla
to oler

2) Ari
stotle 3
3) G.
B. Shaw SiT.al.
o

4) Ro
usseau IT

Correct Answer: Aristotle 3

q

LN

Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Panchayat Samiti at the block level in India is a/an

IRT A olih R T RRITIHIL, I

Options: 1) Advisory Body Tdh
Hellgeh oThIY 2) Coordinating
Authority only & g TH ag of

EhI0T

3) Supervisory
Authority only 3 del TId <X
&R0

4) Administrative

Authority 1TH sTeh T ¥h{0T

Correct Answer: Administrative Authority TH
GERERIC Y]

Candidate Answer: [ NOT ANSWERED ]

QID : 59 - According to Indian Constitution, who decides the salary of members of Parliament?

AR § T & AR, THE & Te T & dcfe] T AU hlef AT 8?2
Options:

1) Union

Council of Ministers &

IJHIIG



2) Parliament

e

3) Supreme

Court 3 IdH I-ATTT
4) President

of India HRARTIT T T

Correct Answer: Parliament &G

Candidate Answer: Union Council of Ministers & I

HIE
QID : 60 - Which one of the following is not correctly matched?

T T G H PleT AT T FE YA A 76 87

Options:

1) Eighth Schedule : Languages 3iTod

2) Second Schedule : Form of Oath of office
Ww: I T T

3) Fourth Schedule : Allocation of seats in
Rajya Sabha T2l 3TTefely : I 2 WoTT & AUTeT 1
3rdes

4) Tenth Schedule : Defection related

provisions &HE TeT¥E : TT-gcoT el oIaeney

Correct Answer: Second Schedule : Form of Oath of office TRY

ST : A9 T q

Candidate Answer: Fourth Schedule : Allocation of seats in Rajya Sabha TtefY
SHTEET < T THT H UTed T e

QID : 61 - When did the Chinese traveler 'Sung Yun' come to India?

AT AT <Y GIT G R ohel 37T AT?
Options:
1) 510 AD

5108.

2) 518 AD

5188,

3) 525 AD

5258,

4) 528 AD

528%.

Correct Answer: 518 AD
518%.

Candidate Answer: 528 AD
528%.

QID : 62 - Which among the following state 'Odantpuri' education center was situated?

AEaQU A cTdh AATTTH A HE I T H 3 U AT I

Options:
1) Be
ngal SIS



2) G

ujarat 7] It
3) Bi
har g

4) Ta
mil Nadu &
Helelg

S

Correct Answer: Bihar §gX
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Who was the founder of Bahmani Kingdom?

FEHAT T <1 T FHIH UTIF et AT?

Options:

1) Hasan
Gangu &4 319

2) Firoz
Shah TRIST AT

3) Mahmud
Gawan Hg#Hg Ial
4) Asaf
Khan 31T8% @leT

Correct Answer: Hasan Gangu g3del
L

Candidate Answer: Hasan Gangu g8e1
EiT)y

LN

QID : 64 - During whose rule in India did the Khilafat movement begin?

AR | HHP ATHA S AT WA 31T &loTeT ST ITIT 37T AT?

Options:

1) Lord
Mountbatten ol
HAT3cse

2) Lord

Dalhousie 918 SgISi
3) Lord
Chelmsford @18 =

RIS

4) Lord Curzon

IS Fofel

Correct Answer: Lord Chelmsford @13 o
RIS

Candidate Answer: Lord Mountbatten &5

A3edesT
QID : 65 - Who among the following was the founder of the Arya Mahila Samaj in the early 1880s?

1880 o &I & <R 3 F 31T H goll THTST & 2ATIAT ST H el & ?



) Swami Dayananda Saraswati arHT
&1 & T gt
2) Swami Vivekananada T FAPIA &

3) Ramabai Ranade

THATETS TS

4) Pandita Ramabai

9 ST AT

Correct Answer: Pandita Ramabai @

EGIREICIES
Candidate Answer: Pandita Ramabai @

EQIEGICIE]
QID : 66 - Dasht-e Kavir Desert is located in which country?

TATHRA T FTSAHTATE?

Options:

1) Iran éTIFl'

2) Saudi Arab
3¢ 3RS

3) Iraq ENED

4) Sudan

ESEIGE

LN

Correct Answer: Iran éW
Candidate Answer: [ NOT ANSWERED ]

QID : 67 - Which of the following layers is called "Barysphere"?

AT TET H Y HH R "I F I FHgT AT 67

Options:
1) Earth's most internal layer

9 &1 o Hel 3T A T Wl
2) Earth's intermediate layer J &Y & H Jad W
3) Earth's topmost layer cga”ra:mmqw

4) Lowest part of the atmosphere where climate
changes occur a'rgﬂgaa?rmshwmaﬁ

AFA I @I 81T 8.
Correct Answer: Earth's most internal layer C{Eﬁ

F I 3T T T R
Candidate Answer: [ NOT ANSWERED ]

QID : 68 - The Blue Nile river originates from which of the following lakes?

AT G T F F T 7 Y FHF S F Aaelcll 87
Options: 1) Lake

Victoria

g s

2) Lake

Tana dT=T &fTer

3) Lake
Edward Usds

her

73'1



4) Lake
Albert 37 §€ 3fTel

Correct Answer: Lake Tana dTelT
=i

Candidate Answer: Lake Edward USds

St

QID : 69 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?
AR G {1 U7 & TUIC & 31THR AR & o o of @l H & FH T T H a0 o7eh 2 7 Hall eeh cIlel deT  §?
Options:
1) Manipur # UTqT
2) Meghalaya
AeTerT
3) Mizoram AR

4) Nagaland
AT 3

Correct Answer: Mizoram FSIIeT

Candidate Answer: Nagaland I
g

QID : 70 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?

T T W IR 7 3eloheT &1 Ug AR gl Helh< 33T 7A€, STl 872

Options:

1) Hari
dwar g T 4R

2) Rish
ikesh 3 ¥ah &
3) Rud
raprayag IraT
4) Dev
prayag &g IRT

Correct Answer: Devprayag T
T

Candidate Answer: Rishikesh &
ok o7

QID : 71 - 'Nirvana Fund' was set up by NSDC for financial help to

TATHSRT <R ‘+1dT0T Y & AT &1 T ST FERIAT &l e 8 o 1S Y|
Options:
1) Entrepreneurs from the bottom rungs of society HHTST
FATAEAHIAT
2) Displaced Kashmiri Pandits @ 2T 9 & #HIT 9 5
3) 0ld age people having no means of livelihood 31Tir
TERTENT 3T Sl1aT oF § S Il T IS TMEA 78 &

4) Ventures of selected candidates trained under PMKVY
but did not get any job.

fruseh d137TE 3 AT I A 3R T T3 Hicar ST FIS AR A Fell
Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.
fruaeh AI30TS & 3iderd 97 Ad 3R] T T3 Hicar S FIS VW A Fell

Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Nakul Swasthya Patra' is a scheme by the Government for which among the following purposes?



AT GT AW HA 3 2 T H LA olU R WhHR oRT AL AT T 1 Frofelr g FASE?
Options:

1) Wellness of animals WQ_IQ?HTH

F AT ?T:[ 2) Wellness of

animal owners q‘aarmrﬁa:au

& AT 8]

3) Taking care of lactating mother in the rural areas

CT#I0T 3 F T T 1 & Tellad aTell AT & a1 I o ST 8 4)
Taking care of newborn babies in the rural areas

ST S AT RFAT T H ST 8]

Correct Answer: Wellness of animals

9y HAl IR ETH ]

Candidate Answer: Taking care of lactating mother in the rural areas

TEYOT S H T T Y & TlTer aTell AT HAT T H AT 8

QID : 73 - Which mine of India was in the news recently for becoming the country's first iron-ore mine to have a solar plant for reducing carbon footprint?
HRA & oA el HTad HE T HA A b o0 BN HY F ATGAT ot ATl S o AH ollg-31 & Wl lot & HIROTgTel & H = AT T

Options:

1) Talchar mine delTR Walel

2) Koraput mine

PRI Tl

3) Noamundi mine

AN T

4) Ratnagiri mine

T AT I WeTeT

Correct Answer: Noamundi mine HTB-TD:—I;E?I'

"cled
Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Where will the Summer Olympics be held in 2028?

<Y FehTolleT 31T Yeh HeT 2028 H gl 3T ST HAT SATTI?
) Sydney ST

2) Paris Lk
3) Los Angeles o
[k
4) Copenhagen
FIUAGIA
Correct Answer: Los Angeles qgT

R
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - Which country has won the 2017 Davis Cup Tennis Tournament?

TH Y & T TAHC 2017 F &2 AT &7

Options:
1) Switzerland

diesRes

2) Serbia § &7

3) France

ofodg

4) Belarus SelT g
Correct Answer: France

oTad



Candidate Answer: [ NOT ANSWERED ]

QID : 76 - “You are Unique” is written by .

IR G AT RIS §
Options:
1) Dr. A. P.J. Abdul Kalam 3F. T. 9. 51, 37 o A

2) Khushwant Singh q%laﬂ'ﬂ%’

3) Taslima Nasrin

& AT TEdT

4) Arvind Adiga

3 a5

Correct Answer: Dr. A. P. J. Abdul Kalam 3T. T.
S T HAH

Candidate Answer: [ NOT ANSWERED ]

QID : 77 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor
Y 2017 & T TERT $TRCAT T T ek FaIeT I I0C, (1.81.H.9.) T 2 R de & Al ST <16 § FEATIATL |

Options: 1)
Hiroshi Marui

RBGIEE

2) Shimamaru
Marui TATAT "
g
3) Nagasaki Marui
ARG A S
4) Toyota Marui
AT AS
Correct Answer: Hiroshi Marui gXeiY
A

Candidate Answer: [ NOT ANSWERED ]

QID : 78 - Which of the following city has became first Indian city to get UNESCO'’s world heritage city tag?

T Tl H U HleT AT AGY Fo¥ 1 o T IHA G T &7 <7 of Fled ATRT TR T U AL T IAT 57
Options: 1)

Jaipur

AR

)

2) Ahmedabad
ERECACICY

3) Gandhi NagarTﬁ?ff
IR

4) Allahabad

SogTaTe

Correct Answer: Ahmedabad 3gHcTdIG
Candidate Answer: [ NOT ANSWERED ]

QID : 79 - In June 2017, which of the following countries have signed a protocol of co-operation in the field of archive?

ST 2017 H, F o of @ 7§ Foef G271 3T HOIGRIR & & 7 HEAIT & T Teh <ITIhiel I g AT Y T &2
Options:

1) India and Israel

IR TAT SRS

2) India and Portugal

A AT gAaTrel

3) India and Netherland

R FT AeIels



4) India and Iran

R TAT T

Correct Answer: India and Portugal R
QEIEGHICH

Candidate Answer: India and Netherland R
ERIGICICE

QID : 80 - India has signed an agreement to provide USD 318 million as line of credit for developing railway sector of which of the following country?
AT TTTH Y HY U ! HRA o1 Yo1d <} & T o T 318 7 1T 3TH T 1ol & <) 3T ATST T et & oI Teh THSIAT T 872
Options:
1) Bangladesh
7 oG
2) Nepal =91t

3) China ¥l

4) Sri Lanka

W

Correct Answer: Sri Lanka

'THEFT

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - Dot Matrix is a type of

N ¥ HTUFH R L

Options:
1) T
ape 3T

2) D
isk S h

3) P
rinter T

4) B
us 9

Correct Answer: Printer ¥
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - The secondary storage devices can only store data but they cannot perform

ATH G U SIFOTF IA ST AT FFAGHI TG I8 T HHA G|
Options:

1) Arithmetic
operations 33T UTIT T
JdTelel

2) Logic
operations dTheh T
Tl

3) Fetch
operations % T g =TT
4) All options are

correct. G g T T

Correct Answer: All options are correct. T3t

TJH I EI



Candidate Answer: All options are correct. Tl

IHFITTLE
QID : 83 - In the modern periodic table metals, metalloids and non metals are found in which block?

3TE] 57 JTerel HROM H €1, ST, TTT e H olich & T Sl 82
) s-Block s-

1%

olleh

2) p
-block p-

1)

SIC

3) d

-block d-

EICT

4) f

-block -t

Correct Answer: p-block p-
CICD

Candidate Answer: f-block f-

1%

Eica
QID : 84 - Cinnabar is ore of which of the following?

AT T TT T Y TATGR FHPT 37 TJh §?

Options:

1) Ma
gnesium #r

MIH

2) Alu
minium UIOHT
IIH

3) Me
rcury URT

4) Iro
n dgr

Correct Answer: Mercury 9RT

Candidate Answer: Mercury 9RT

QID : 85 - In which of the following mirror size of image formed is always equal to the size of object?
TTTTEIH Y I T SUUTH T T § T 3R §HRATT § o 3R & GHT 81T 82

Options:

1) Convex
mirror 3 o gUUT

2) Concave
mirror 3Tddel gUoT
3) Plane
mirror HHdeT qUUT
4) Both

convex and concave

mirror 3 o qUUT AT

3feeTel goT Al

Correct Answer: Plane mirror §Hdel
4ot

Candidate Answer: Plane mirror H§Hdel
9ot



QID : 86 - Mass of a hydrogen atom is how many time the mass of an electron?

T BT5 < ISTel IRATV] &l HIel Ueh o1 1T o FIeT T ekl 31 < Il 37
Options:

1) 1000
2) 8000
3) 1837
4) 5000

Correct Answer: 1837

Candidate Answer: 1000

QID : 87 - Which of the following are Fabrics that may contain polyester?

I. Polycot
Il. Polywool
IIl. Terrycot

TTTET A Y A T HUS H ITolT T & FhaTE?

I gfeTex

I 9t oI ge

1. &epic

Options:

1) Only land Il &
goT 1 AT Il

2) Only land Il &
aoT 1 AT Il

3) Only Il and 11l
FIT I TATIN

4) All1, Il and Il
I, 11 T 111 iy

Correct Answer: All I, [l and 111

I, 11T aefr

Candidate Answer: [ NOT ANSWERED ]

QID : 88 - Which of the following term does NOT represent electrical power in circuit?

AT TA A A RIA AT T ST T AT 5 & FaA A TE PR
Options:

1) I’R

2) IR?

3) VI

4) V3/R

Correct Answer: |R?

Candidate Answer: V2/R



QID : 89 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

Options:

1) toward south @
UTF 3T

2) toward east §9
F 3R

3) downward

TG

-l

4) upward
39
Correct Answer: upward 39

&

)

Candidate Answer: [ NOT ANSWERED ]

q

AH AN I P TS A FOTHA b T 3 RT3 TH 3T S TT @Y AT g | G T S F g aATE?

QID : 90 - Which of the following is NOT positively charged?

AT TGT H Y PleT GoIld AT AT &7
Options:
1) Alpha particle 37
BT hoT
2) Proton
Siric
3) Helium nucleus

&1 oI o1 9
4) Electron 5"5T

=i

Correct Answer: Electron 3@'
¥l
Candidate Answer: Electron 3o

i)
QID : 91 - Which is a water soluble Vitamin?

leT AT Gt FHel STol A Felarelier §?

Options:

1) Vita
min AGCT HeT A
2) Vita
min CAeT He C
3) Vita
min D dCT AT D
4) Vita
min K 9T HeT K

Correct Answer: Vitamin C dcT

HeIC



Candidate Answer: Vitamin C
deTHo C

QlD:92 -

Match the items given in column (A) with those in
column (B).

Column-A Column-B
I. Frog 1. Skin
lI. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

H (F) & B 7 Al & HH (@) F qA
Rrema Aifam|

WA -F wHH-"

. ek 1. =

I ufer 2. W

I, g3 3. ®Hs AT co=
Options:
1) 1-3,11-2, 11l -1
2) I-1, 11-2, 111-3
3) 1-3, 1I-1, 111-2
4) 1-2, 11-1, 111-3

Correct Answer: |-3, 11-2, [ll-1

Candidate Answer: I-3, II-2, 1Il-1

QID : 93 - How many number of chambers are there in human heart?

AGIEI AT HHATHAATBATE?
Options: 1)

Two aT

2) T
hreedlel

3) F
our X

4) F
ive T

Correct Answer: Four I

Candidate Answer: Three cliel

QID : 94 - Which of the following is NOT present in a matured stomata?



T T F A o of T 7 A PleT G137 AT AF AT &2

Options:

1) Pla
smodesma
Eic) ag
2) Chl
oroplast @
Ideldsh

3) Cell
wall 3T QT &7
4) Vac
uole ¥ 1

Correct Answer: Plasmodesma St
aq

Candidate Answer: Chloroplast &

Tdeldeh QID : 95 - What is/are
the cause(s) of arise
hypermetropia?

T SN H/FH ATHROTL/E?

Options:

1) Excessive curvature of the eye lens. 37 3T
o & d T T 37 4 gI=T|

2) Elongation of the eye ball. Mol
T ST

3) Focal length of the eye lens is too long. 3T

o1 o1 o BIehd 3 T 3 e glelT|

4) No option is correct.
S THITN AT & |

Correct Answer: Focal length of the eye lens is too long. 3T HeT

T & BIhd I &7 37 &1 gleTT |
Candidate Answer: [ NOT ANSWERED ]

QID : 96 - Antibiotics are useful for which type of infections?

U FR & T AT & oI U I13T Toh AT Bl 87
Options: 1) Only

bacteria & det

Sy

2) Only virus & @cf ERIMIE)

Both bacteria and virus
SPaTo] T ISy e

4) Neither bacteria nor virus o

ar Sfaroy o & sy

Correct Answer: Only bacteria &
g Siiary

Candidate Answer: Only bacteria *
g Siiary

QID : 97 - Which one of the following is NOT responsible for water shortage?

TT TTT H Y Pl ATHRSP STl F HHT F T 3 TR AT 8?2
Options:



1) Rapid growth of
industries 3{f cTafietoTH g

2) Increasing
population ot STeTg a7

3) Forestation eRTOT
4) Mismanagement of
water resources STol HETENT ST
F e

Correct Answer: Forestation JeRT90T

Candidate Answer: Forestation eRTJUT

QID : 98 - Which gas is major contributor to greenhouse effect?

HieT TY 3 & IA9TE 1T T T 37 TP TSI il 87

Options:
1) Carbon
dioxide aTeleT BTS3iT

Hrss
2) Chlorofluro

carbon SR NRIeRTeeT

3) Sulphur

dioxide T W 1S3t

Higs

4) Nitrogen

dioxide =TS <TSTeT

EESIEIES

Correct Answer: Carbon dioxide Telel
S183iT AT8s

Candidate Answer: Chloroflurocarbon RT

ARIRIET

QID : 99 - Which of the following is NOT a major problem in development of resources?

A o WA H Y Hlel AT HHATEA oh I H T TH AT A o2
) Depletion of resources for satisfying the greed of few individuals. fGIT
I/ ATTIG LT HATEIT T ST |
2) Accumulation of resources in few hands.
TS T & Y H HHTEA T Fe |
3) An equitable distribution of resources.
T T AT H ATIHIT SearT|
4) Indiscriminate exploitation of resources. WWW eioT|
Correct Answer: An equitable distribution of resources. TETErT T
HHTS A AREI SeanT|
Candidate Answer: [ NOT ANSWERED ]

QID : 100 - Which of the following is NOT man made ecosystem?

AT EIA T RAATAAT A AT IITTH T AG&?
Options:
1) Orchards 3 <TeT

2) Home aquarium

e ASOTER



3) Botanical gardens
TITT-3 ool
4) Grassland gTd AT
Har
Correct Answer: Grassland g
T HerT
Candidate Answer: Grassland T8

T el
QID : 101 - Which of the following represent the crushing strength (MPa) for the good quality stone that are used in the construction of buildings?
A TG H Y HleT N ool ATH T SHN 3 AT H SULT H STed ATel 37 S I 7 o T AT SATCH 82

Options:
1) Less than 20

209 HA

2) 20 to 60
20860

3)60to 80
60 ¥ 80

4) Greater than 100
100 & 37 9%

Correct Answer: Greater than 100
100 ¥ 37 &1

Candidate Answer: Greater than 100
100 ¥ 37 &1

QID : 102 - Which of the following is examined to determine the age of timber?

TT T TT H Y FIeT Y ST ThaT & 3 7T T et & oAU & SATAT &2
Options: 1) Annular ring

F SAR T (3 ok

1)

2) Sapwood

dugs

9
3) Pith 2T
4) Timber defects
TR & T
Correct Answer: Annular ring &

SellehY 13T (37 JerX T4T)
Candidate Answer: Annular ring

% eI TaT (31 ol T91)

QID : 103 - Which of the following is determined with the help of Le Chatelier’s device?

T T TT F Y HHBT ALUROT off I A (Le Chatelier) T ITHIOT & AT H FHAT SITAT &2



) Abrasion resistance 90T

Y

2) Chemic
al resistance YA
T e

3) Soundn
ess odl

4) Strengt
h HSTH

Correct Answer: Soundness &l

Candidate Answer: Soundness GdT

QID : 104 - The type of mortar which is used for the construction works carried out in water-logged area is

ST T < o7 7 STHIUT T & T 3TN & ST dTell ACR HI PR &

Options:

1) cement mortar
A Aler

2) loose mortar e[t
AR

3) mortar of very

low consistency & d shdH

UTAT T AR

4) mortar having

high w/c ratio 3 w/c

3T T HIER

Correct Answer: cement mortar HIHT

AR

Candidate Answer: mortar having high w/c ratio 3

w/c 3TIATel 1 HIER

QID : 105 - For M 25 grade concrete, the split tensile strength in terms of percentage of its compressive strength is

M2538% €& dT, SHh oI GNSA R TS AEH AT TAA TN §|

Options:
1) 7to 11%
79 11%

2) 18 to 28%
18 T 28%

3) 28 to 38%
28 ¥ 38%

4) 38 to 48%
38 T 48%

Correct Answer: 7 to 11%
78 11%

Candidate Answer: 28 to 38%
28 T 38%

QID : 106 - Distempers are generally used to coat

JTAAR W 3 TR A F oY & T AT HAT SATAT & |
Options:
1) compound wall & 9133 dTel



2) external concrete surfaces EI'IE'&EF <
qdg

3) interior surface which are not exposed to
environment 31T & T& g ST IITaX0T

HUF HAG BN &
4) wood works
TS & P
Correct Answer: interior surface which are not exposed to environment 3T d
I TIE oI JA1a%0T & 69 A AT oI &
Candidate Answer: interior surface which are not exposed to environment 3T

T g S IATeROT & JUh A Ag 8l &
QID : 107 - Which of the following is commonly used as retarder in cement?
AT T @I H Y T YIHE 7 TS & T H 5 JHT FHAT ST 82

) Calcium sulphate &
FIAFHT
2) Gypsum ST HH

3) Potassium carbide
I AIH FHIETST
4) Sodium chloride

Y SIA ANSS

Correct Answer: Gypsum ST
qH

Candidate Answer: Gypsum ST
ad

QID : 108 - In the process of hydration of OPC, to complete all chemical reaction, the water requirement (expressed as the percentage of cement) is .
3NAEN(OPC) & STerATST=I(gTS S21eT) AT H, W qaT o1k o ar I qUT e o olT (HFE & TAT & T H) ITeit o 377 ThdT |

Options:

1) 5 to 8%

5 8%

2) 8t0 16%
8T 16%

3) 20 to 25%
209 25%

4) 35 to 45%
35 T 45%
Correct Answer: 20 to 25%
20 T 25%

Candidate Answer: 35 to 45%
35 ¥ 45%

QID : 109 - The slump test is performed to check the

IAUIT I I OT (T &) & ST & oTT AT SATAT S |

Options:
1) presence of water in cement

dFcATT &3ITTT

2) ratio of concrete ingredients & €
1A < & AT

3) temperature resistance A ey



4) workability of concrete

% CTHIEIA (H T dT)

Correct Answer: workability of concrete FT

S gl (dsh d elc)

Candidate Answer: workability of concrete FeT

& TEIT (TH T o)

QID : 110 - The reason behind the low expansion and shrinkage of the plywood is

& o T AR 3R T 3T T HROT gl

Options:
1) plies are placed at the right angles with each other

T Th TR & THBIT R I ST §

2) they are glued under the high pressure

EEELCICE O AL

3) they are held in the position with the help of adhesives

3 T9ehel Tl TGTT & AGG A ST T T A A AT G

4) they are prepared with the help of veneers ammﬁmﬁmg
Correct Answer: plies are placed at the right angles with each other FI'I%’I’T:F

Y H HABIOT I TG SAH &

Candidate Answer: plies are placed at the right angles with each other ?vﬂéﬂiﬁ
T H FHBIOT I I S &

QID : 111 - Which one of the following method is used for the approximate estimation?

AATGT AT DIAAT T ITAT A ITHI o oT 1T o STl 82

) Both central line and short wall and long wall method
& W AR TG IR IR G g aR T dakT
2) Central line method FI@IT
3) Plinth area method SgoT d
4) Short wall and long wall method
TS AR AN SN IR T o
Correct Answer: Plinth area method ¢ &
q d
Candidate Answer: Plinth area method §¢ &

q d

QID : 112 - Accuracy in the measurement of the thickness of the slab or sectional dimension of column and beam (in centimetre) should be

A o HeTS IT et 3R SN TN I (e HeX H) & AT H FE FHell A argv|

Options:
1) 0.5

2)1

3)5

4) 10

Correct Answer: 0.5

Candidate Answer: 0.5

QID : 113 - Deduction at T-junction of the wall for total length of the central line is .



& AXWIH F o odls & 0T g IR & T -8 & R Fell gl

Options:
1) half of thickness of wall

& IR & ACTS & el

2) no deduction Eﬁé’
el =1g

3) thickness of wall g dX &

#Hrers

4) twice of the thickness of
wall & IR o HICTS T 9]
ol
Correct Answer: half of thickness of wall &
IR % ATS & el
Candidate Answer: thickness of wall &

IR &F A

QID : 114 - For estimation of painted area of semi corrugated asbestos cement sheets, percentage increase in area above plain area is

HTATHER TS EH WA M & TN T o AT & AU, FATS & & 30U S HAAAG gl

Options:
1) 0.1

2)0.14

3)0.2

4) 0.25

Correct Answer: 0.1

Candidate Answer: 0.25

QID : 115 - Scrap value of a property may be
FAET HFITAHT QRETIN

Options:

1) both negative or
positive

SRUTT Heh T =TT H &l

2) constant &

3) negative UI Hh

4) positive YT Hb

Correct Answer: both negative or positive FUTT
T IT AT Heh ST

Candidate Answer: both negative or positive F0TT
Fh AT AT 7eh el



QID : 116 - What is the unit of measuring cornice?

FRA ol AT o SHIS ATE?
Options:

1) Cubic

metre TeT HieX

2) Numbe

r v

3) Runnin

g metre T HeX

4) Square

metre T HIET

Correct Answer: Running metre ¥
I I

Candidate Answer: Running metre {

T I

QID : 117 - Calculate the number of bricks in 20 cubic metres brick works.

20 G FIeX T HIF F T H T T IN0TAT F 13|

Options:
1) 500

2) 1000

3) 10000

4) 100000

Correct Answer: 10000

Candidate Answer: 10000

QID : 118 - Calculate the area (square metre) of the formwork required for a beam of 2 m span and cross section dimension of 400 mm x 200 mm.

400 FENHIET x 200 HETHICI 37 T hie o gAT 31X 2 HieT §e7 & i & T 3779 T T & < el (9T HIeX) & 0T & 51|

Options:

1) 0.8

2) 0.16

3) 1.2

4) 2

Correct Answer: 2
Candidate Answer: 0.16

QID : 119 - The cross section areas of three sections of an embankment at an interval of 40 m are 10 square metres, 15 square metres and 35 square metres. Calculate the
quantity of earthwork for the embankment. Use prismoidal method.

40 FYET & 37 A TR Ueh TaieT 3 olieT § F o 3] & I T < ol 10 T HIEY, 15 F97 1T N 35 FeT HICT 8| AT & oT IYANT 5 1Y 7 o IT0TeAT 5 13 | AT F & 7
3T FT|

Options:
1) 1200

2) 1400

3) 1500



4) 2400
Correct Answer: 1400

Candidate Answer: 1200

QID : 120 - Calculate the annual depreciation (Rs.) of a machine having initial cost of Rs. 10,000. The scrap value is Rs. 1,000 and useful life of 30 years.
T A2 & a7 Y 7 I <1 () & 01T & o1 T8 <R HE 9T 10,000, 3T ATH A 1,000 X 3TN et &7 T 30 A &

Options:
1) 300

2) 367

3) 1333

4) 333333

Correct Answer: 300

Candidate Answer: 300

QID : 121 - What is the difference between the sum of interior angles of plane triangle and spherical triangle for area of triangle 195 square kilometre on the Earth’s surface?

G &Y o Helg I ST % 195 TaT ol © o ol FHAS HI0T o 13T HR IR HI0T o el o HI0Th 7 F A ATE?
) one degree Ueh

s

2) one minute Teh HdAC

3) one second

THEFHS

4) one radian

TH {5

Correct Answer: one second Tch

qF3

Candidate Answer: [ NOT ANSWERED ]

QID : 122 - Which one of the following is the largest scale?

A T TT H Y DIl AT TG 75T SATATE?

Options:
1) 1:500

2) 1:1000

3) 1:2500

4) 1:50000

Correct Answer: 1 :500

Candidate Answer: 1 :500

QID : 123 - The quadrantal bearing of the line lies in the third quadrant making angle in clockwise with the north is

WA IR IUT AT ISV FF TG O 10T 6 FeTell § A 39 YW & AT T 37 T gl

Options:
1)

N(6-180)°E



2)
N(6-180)°W
3)
S(6-180)°E
4)
S(6-180)°w
Correct Answer:
S(6-180)°W
Candidate Answer:

S(6-180)°W

QID : 124 - Calculate the volume of the embankment (in cubic metre) using trapezoidal method, if the cross section areas of the three sections of an embankment at an interval of
30 m are 20 square metres, 40 square metres and 50 square metres.

T & AT & IUTAT (8T HIeT H) GHT SThR T & A o 313, T & 30 HeT 37
AR ACTT FATE T F o] T FHIC T Tl 20 T FICY, 40 T7 #1eT 3N 50 FT A B

Options:
1) 1100

2) 1150
3) 2250
4) 2350
Correct Answer: 2250

Candidate Answer: 1150

QID : 125 - Which one is the CORRECT order of the tapes based on their accuracy?

& T &l & HTUR T HieT AT H HE 67

Options:

1) Linen tape > invar tape > metallic tape > steel tape

FAA Y > FAR LY > UTJ LT >T AT

2) Invar tape > steel tape > metallic tape > linen tape
33W?W>EH?W>ETI§'2’W>W?W

3) Metallic tape > steel tape > linen tape > invar tape

I 2T > T ALY > ofadel ST > T AR Y

4) Metallic tape > steel tape > Invar tape > linen tape
U@?W>Eﬂ'?q>gaﬂ?q>ﬂﬁﬂ'?q

Correct Answer: Invar tape > steel tape > metallic tape > linen tape
AR Y > TS Y > U Y > ofelel T

Candidate Answer: Metallic tape > steel tape > linen tape > invar tape iTIT-__!;é'CI'

>E$r€q>aﬁ?r€tr>$aﬂétr

QID : 126 - In the leveling between two points A and B on the opposite sides of a pond, the level is first set up near the point A and staff reading on A and B are 2.5 mand 2.0 m
respectively. Then the level is moved and set near the point B, staff reading on points A and B are 1.2 m and 1.7 m respectively. Calculate the difference of heights between the
two points A and B (in metre).

TS & TR Adg I AT &l § A 3R B & &g oI A o ATH, TR I Tgel § A F I AT I el W F A 3R B I &1 I 591 7L 2.5 AT 31 2.0 HeT 3ncfr g | 3@ R
§ B ITH o ST AT I det TR ST I 3T FLT: 1.2 HeX 3R 1.7 AT 3 | 7 A 3R B & i 3 18 & 31K & I70TAT (HeX 7) 3 |

Options:
1) 0

2) 0.5



3)1
4) 1.85
Correct Answer: 0

Candidate Answer: 0.5

QID : 127 - Calculate the combined correction for curvature and refraction (in m) for a distance of 2 km.

2 HANET & U T AN 3R 3T (X A) FATHY G F 00 6 51|

Options:
1) 0.045

2) 0.135

3) 0.269

4) 3.14

Correct Answer: 0.269

Candidate Answer: 0.269

QID : 128 - In transit theodolite, the line of the sight can be reversed by revolving the telescope through .

3799THA UASSE H, FHATTAY FHIWTH S T R T I HIT SRT 3ol HaT ST bl 2 |
Options:

1) 90° in horizontal plane

90° 2 AT TAH

2) 90° in vertical plane

90° F AR del H

3) 180° in horizontal plane

180° dAT A H

4) 180° in vertical plane

180° F AR deT H

Correct Answer: 180° in vertical plane
180° F AR deT H

Candidate Answer: 180° in vertical plane
180° F AR dol H

QID : 129 - Which one is the CORRECT sequence for the temporary adjustment of the theodolite?

YANENATSE & 37 UTE FATIST 5 oIT el ATHE A |

Options:

1) Centering, elimination of parallax, leveling, and setting

il T, eldlet T 3 Felel, TH stlel, IR F o

2) Centering, setting, elimination of parallax and leveling

il AT, W I, e T 3 HeloT, R HH T STl

3) Setting, centering, leveling and elimination of parallax

W T, el AT, HHCTA Fell, HR el T 3 Felel

4) Setting, leveling, elimination of parallax and centering

Q I, AT FAT, oldlat I 3 Feled, 3R e et

Correct Answer: Setting, centering, leveling and elimination of parallax
A I, el AT, HHCTS AT, AR SefaT 1 3 ool

Candidate Answer: Centering, elimination of parallax, leveling, and setting
el T, eldlet T 3 Helel, TH seTlel, 3R q o



QID : 130 - Which of the following is used for determining the location of station occupied by the plane table?
AT T T H Y PIeT TG UT T 3 TW gled o 2TeT Y AT I T oh oTT ST HIT AT §7

) Both intersection and radiation @

BT IR T FOTSA
2) Intersection

method o &Gt OTTelr

3) Radiation

method & 0T UTTeiT

4) Two point

problem arggaar €

Correct Answer: Two point problem

& T §H AT (T Wige <f )

Candidate Answer: Two point problem
& T §H AT (T Tise < @)

QID : 131 - Which of the following is responsible for the formation of residual soil?

TT TTT H Y Pl T 3T T H & 76T & T T HER 872
Options:

1) G
laciers o
M

2) W
ater STel

3) W
ind gdT

4) N
one of these

AT IS
Er
Correct Answer: None of these 3sT8Y

LIRS

Candidate Answer: Water sTel

QID : 132 - The coefficient of gradation and the coefficient of uniformity of a given soil sample is 1.0 and 4.0 respectively. The ratio of effective size to the diameter through which
30% of the total mass is passed is

B

Options:
1) 1.25

2) 15

3) 1.75

4) 2

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Which of the following shows the CORRECT order of increasing surface areas of the given soil?



AT T T A Y Pl T & T TAE Tl & TGN 7 P QT &2

Options:
1) Clay < silt < sand < colloids

Tl 7 < MG < Id < FIASS 2)
Gravel < silt < colloids < clay EFEFE'
< TG, < A < Tehail A 3) Sand
< silt < clay < colloids T < S
< Tohail H < HIAISS 4) Silt < gravel
< colloids < clay 3TTG < & &3 <

PSS < Thall 7

Correct Answer: Sand < silt < clay < colloids
T < TG, < Tohall 7 < FIAISS
Candidate Answer: Sand < silt < clay < colloids

i?r<?na<amﬁn<aﬂ3ﬁ$§

QID : 134 - What is the assumption made about back of wall, in the Rankine’s theory of earth pressure?
HHSO gaTa & {117 (Rankine) & H T H & dN & & & IR H IT ROM §?

Options:
1) Plane and rough

FA 3R G

2) Plane and smooth

FAd AR T

3) Vertical and rough

3 aTeR 3R G

4) Vertical and smooth

3 AR 3R g

Correct Answer: Vertical and smooth &
TR 3R T

Candidate Answer: Vertical and smooth &

areR 3R T

QID : 135 - Which of the following is CORRECT about the viscosity of gas?

AT T GT H Y HIA I & TeTdT h IR 7 W2
Options:
1) Inversely proportional to the temperature
AT & GO 37T e
2) Increases with an increase in the
temperature

AUAAHY & AT TG AT &
3) Independent of pressure &I & ad

4) Independent of temperature AT & ad

Correct Answer: Increases with an increase in the temperature dT9HTT &

g FHAT TGS

[

Candidate Answer: Inversely proportional to the temperature ATIHTT &
I 3T IR

QID : 136 - Pressure of 200 kPa is equivalent to the head of z metre of liquid having relative density 1.59. The value of z (m) is .
200 kPa T GaTE 1.59 AT G911 T & ool TG1Y & z HIE 3 18 o R | z (A FIAF ___ §|

Options:



1) 11.6

2) 11.82

3) 12.82

4) 13.14

Correct Answer: 12.82

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Which one of the following statement is CORRECT about the center of buoyancy?

AT T Gd H Y FIA AT HYUA 3 deT & oh IR 7 AT 87

Options:

1) It is the point where buoyant force act. Ig dg an:r%aﬁ:»’armrasrmmh

2) It coincides with the centroid of volume of water displaced

TG T AT UTl) o AT <7 & o oh T Al Wil |

3) Itis the point where buoyant force act. and It coincides with the centroid of volume of water displaced

g I8 AT & T8I 3 oIiae] 5T HIT FaTg IR Ig T A IT I F AT T F & o AT AT T @rar g
4) It acts outside the body. g ST & S8 T AT |

Correct Answer: It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
IE I UTeT § SR 3 19T 96l I FXAT ¢ AR T T AT I Uil & AT T 3 & & A Al N @IaArg

Candidate Answer: It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
IE I UTeT § SR 3 A1aT Sl I FXAT ¢ AR T T AT I Ui & AT T 3 & & g Al N @Iarg

QID : 138 - A longitudinal rectangular surface is hanged into the water such that its top and bottom points are at depth of 1.5 m and 6.0 m respectively. The depth of center of
pressure (m) from the top surface is .

T 3o T HAATHR HeTg Y Tl 7 8 HR ACHAT ST § F 8 S 3R A & 3 A 1.5 7ex 39K 6.0 HIeX 6 TS T TG | SR A Y &871d & % I (Fe)
&

Options:
1) 3.8

2) 4.2
3) 4.6
4) 4.8
Correct Answer: 4.2

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - The velocity potential which follow the equation of continuity is .

FRATAT 3 GHIHIUT ST UTele] &t dTel 39T & HAT gl



Correct Answer:
X —y?

Candidate Answer: [ NOT ANSWERED ]

QID : 140 - At what distance from the boundary layer, the value of the wall shear is three times of the turbulent shear?
AT T R V Helel T W, & IR & 37T UT T AT & 3 & 3 TOTHT ol 31 T §2
Options:
1) 1/3R
2) 1/2R
3) 2/3R
4) 3/4R
Correct Answer: 2/3 R
Candidate Answer: 2/3 R

QID : 141 - Which of the following statement is CORRECT about the stream lines and equipotential lines?

T o Gl 7 U el AT HUeT URTIWT N AATHI @ F IR AT E?

Options:
1) Both can be drawn graphically for viscous flow around any

boundary. &lsT I FHHT 3 TYAT & ITHITH ITeT ATg & AT IWihel
AT ST Tl &

2) Meshes formed by them are always squares.

3ok ©:RT 3T & ALY §HAT TIMHR 8 &

3) They always meet orthogonally. @ §H2IT o §ad Held &

4) They can be calculated for all boundary conditions. s'ﬂ"cF?TUTFITHS-ﬁ

HraArgem AF ST AR &
Correct Answer: They always meet orthogonally. 3
AT AT I A §

Candidate Answer: Both can be drawn graphically for viscous flow around any boundary. gl &r

AT 3 AT 3 ITAITE ATeT ATE & oIT IWTeheT T ST el &

QlD: 142 -

The Rankine half oval body MM is subjected to

the two-dimensional flow having velocity V. The
typical stream line is shown in the folldwing diagram.
The point A in diagram shows

A5 (Rankine) 34T 3SR a&g MM, V 49T &
/Y &1 3Et gare & i g fafdre

g1 a1 fArafafaa 3 # gl = g
@ # fag A R B




) point at which velocity is maximum &

ST 49T 37 UhAH &

2) separation
point ¥ HIOTS

3) stagnation
point YT

4) stall point
[HISKc)

Correct Answer: stagnation point IXdl
E)
Candidate Answer: point at which velocity is maximum &

STET 49T 3T ThaA &
QID : 143 - Which of the following is CORRECT ratio for Froude number?

T o T 7Y FIA A 158 A 5 AT HEY 3T 82

Options:
1) Compressive force to inertia force.

TSI T FT IS TTA T

2) Inertia force to gravity force.

STETTAFI] AHIOTTA

3) Inertia force to tension force.
EELECKIRnICECE:]

4) Viscous force to inertia force.

AATI RIS TTA Y

Correct Answer: Inertia force to gravity force. 3Is @
AT AHIOTTA H

Candidate Answer: Inertia force to gravity force. 51s @

AR THIOTTA H
QID : 144 - For the most economical triangular channel section, the angle of sloping sides from the vertical is

T HBRCA HIUNT AeTol T & oY, FATER A GeAled T 31 Hi0T |

Options:
1)

30°

4)

75°

Correct Answer:
45°

Candidate Answer:

60°
QID : 145 - Method of applying water directly to the root zone of the plantis called ___ .
ST ANTIEN ST d_ FEararg|
Options:

1) check
flooding A o ST



2) drip
method T Y

3) furrow
method E_lj ECR)

4) sprinkler

irrigation ™ dRT

Correct Answer: drip method &

ayg

Candidate Answer: furrow method E_Ij

)

QID : 146 - A field of 500 hectares is to be irrigated for a particular crop having 100 days base period. The total depth of water required by the crop is 100 cm. Calculate the duty of
the water (in hectares per cubic metre).

100 &7 3 TR 31T & aTeY Y IAY Bl & U 500 & TR 3 7 T I T AT & | FHA F T oF 9T  IETE 100 Te HeX & | I1A & 9T (1) T I0TAT R (§ ST

T aT A7) |

) 8.64
2) 57.87
3) 86.4
4) 864

Correct Answer: 864
Candidate Answer: 57.87

QID : 147 - The traffic volume of a roadway is defined as the multiplication of .
T TS o AT & AT <T &l & 90T T & O H 9 T 9 HATIATE |

Options:

1) speed and time headway FIIRTFIF T

2) speed and distance way

TIRIFTA

3) traffic density and speed

I O g AR T T

4) time head way and distance headway I HATIRJF TS
Correct Answer: traffic density and speed IATATITT
g a 3R T

Candidate Answer: traffic density and speed JTdTATA
A g 3R T

QID : 148 - Calculate the equivalent radius (cm) of the resisting section of 20 cm slab, if the ratio of radius of wheel load distribution to the thickness of the slab is 2.
IETIEAHFANIROT (ST FAA) & IT 3R AT & AICTS T 3701 2 8, AT 20 HC HeX o9 & e T3 o FA T AT (HE HIX) & I0TAT T |

Options:

1) 20

2) 35.6

3) 40

4) 40.9

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - On peak hourly demand, what is the maximum daily consumption for the city which have average daily consumption of 100,000 m3?

T e & 3 & 79 @Y 100,000 BT HYeX &, o HeT 3T & AT I 37 Yhcld & 7 T ATR?

Options:
1) 140000

2) 170000



3) 200000

4) 270000

Correct Answer: 270000

Candidate Answer: [ NOT ANSWERED ]

QID : 150 - For which of the following, distribution mains is designed?

FT T TT H Y FHSH oTT TAUT T IR HATIATE?

Options:

1) Average daily demand
3 & e AT

2) Annual peak demand @T
e QR HfeT

3) Monthly peak demand HT

T W AT

4) Maximum hourly demand
on maximum day

37 YHAH Gl W 37 YehdlH o TeT HaT

Correct Answer: Maximum hourly demand on maximum day 3T
U GeT IR 3 YA o HeT HidT

Candidate Answer: Average daily demand Maag

e AT

QID : 151 - Which of the following statements is true?

A. Most of the loads applied to a building are environmental load.
B. Most of the loads are dead followed by live loads.

AT TTGT F Y i TTHYT TEE?

A. SHR W 3TRY I gleY dTel 37 YhiRl Sof IITaRUT ST g 6

B. 3T T 2Tl e o §1G, 37 ¢ThieT ST Tola ol 81 ST &
)Only A%
FAA

2) Only BFH T B
3) BothAand B
AR BaA

4) Neither A nor BT

a8 B

Correct Answer: Only B &

dceTB
Candidate Answer: Both A and B

AR B

QID : 152 - How does an increase in the pitch of the roof affects the amount of load that can be placed on it?
DASANTHY  HH HR Y 3 R 3 AT 47 I AT G I § Si 3 TR IWT ST Hehell &2

Options:



1) Itincreases 3HHA G

Eﬂ?ﬁ'% 2) It decreases

Ig FA G AT & 3)
Remains constant
FAIT TATIEAT

4) Depends upon case &

TR AR AL

Correct Answer: It decreases Ig

FHR A&

Candidate Answer: Depends upon case d d

AR FATE

QID : 153 - What will be the rain load (in psf) if ds is 2 inches and dh is 1 inches?

3R ds 2 597 3 dp, 1 ST &, AT TS AR (psf H) Swell g1amm?

Options:
1) 5.2

2) 10.4

3) 15.6

4) 20.8

Correct Answer: 15.6

Candidate Answer: [ NOT ANSWERED ]
QID : 154 - Concrete is:-

& T:,"%':—

Options:

1) Good in compression, good in

tension T UISeT 7 37 ST, d=I1d #7 37 ST

2) Good in compression, weak in
tension § U1l H 3 B, deATd H el

3) Weak in compression, weak in
tension T WIS H T, TelTd H ol
4) Weak in compression, good in

tension T 9IS 7 e, TeATd 7 37 BT

Correct Answer: Good in compression, weak in tension §
AISeT H 37 O, dlTd A ol
Candidate Answer: Good in compression, weak in tension &

ST H 37 BT, AT A ol
QID : 155 - If in planar system, X parts/members are there with Y no. of forces, then condition for statically determinacy is:-
TS THTNT AR H, X HET/3TTd § STAR Y T ATH g1 AR II §, O & b T H 32T FAAUT o oIT AT 8-

Options:
1) Y<3X
Y < 3X
2)Y>3X
Y > 3X



3) Y=3X

Y=3X

4) None of these saﬁﬁaﬁ‘éa‘s'
Correct Answer: Y=3X Y=

3X



Candidate Answer: [ NOT ANSWERED ]

QID : 156 - If a system has more equations of equilibrium than no. of forces, then the system is:-

IR AT H e & H IT & JolelT 7 T AT ATh 3 €eh FHROTE, Tl Tl 8-

Options:

1) Improperly
constrained Hﬂ'ﬂﬁqﬂ'
o

2) Partially
constrained 31T HF T &
o

3) Stable

oY

4) None of
these 378 A IS 7Tg
Correct Answer: Partially constrained kil
qRFTHA

Candidate Answer: [ NOT ANSWERED ]

QID : 157 - Which of the following material is not used in making trusses?

A AT T o Td H H HH TIH <7 HT 39T A HIT AT 67

Options:

1) Woo
den struts cTehaT
FTH

2) Meta
I bars Td & ©5
3) Chan
nel ATt

4) Conc
reted T

Correct Answer: Concrete &
<
Candidate Answer: Channel Il

QID : 158 - In a truss it is assumed that the members are joined by

T H TG AL AT § & AT $o1h oRT U T A 3 81T 6

Options:

1) Rough pins
YA

2) Smooth pins
Tehot GaT

3) Either rough
or smooth pins AT AY
X AT TR Il

4) None of
these sﬂﬁ@aﬁé
Erd

Correct Answer: Smooth pins

ot Gl



Candidate Answer: Smooth pins Thet
Yol

QID : 159 - What is the major difference between truss and beam?

gIRIA AT HRATE?
Options:
1) Beam can’t transmit load in vertical direction while truss

can 1A S99 G H HR AT I 78 IR ThelT § 519 & T I ThdT &

2) Truss can’t transmit load in vertical direction while beam
can ¥ ISad ST H $T A el 76 Y Tehell § T & ST H Y Thell &

3) Beam can’t transmit load in axial direction while truss can
1 37 N T H AR AT I 718 H TehelT & T F T I ThAT g
4) Truss can’t transmit load in axial direction while beam

can | 37 <1 GRATH A AT I 16 F Thell & ofdl & S1H F Tohell §

Correct Answer: Truss can’t transmit load in vertical direction while beam can &
ST GRTH 7R T I 78 X Tehell & oTd & a1 & Fohell &

Candidate Answer: Beam can’t transmit load in axial direction while truss can &1 37

T ST H AR FTIA 8 X FHATE AT F T HTTFATE  QID : 160 - Given that J is

no. of joints. B and R are no. of members and no. of reactions.

If B=4,R=3and]J =4, then the truss is:-

SATIE FIANSF T AT B 3R R 379 3R I I FHEATEI

IR B=4, Rz33ﬂTJz4%’,<‘-ﬂ'H%’:0pﬁons:

1) Statically
determinate ¥ dH T T T AT
2) Statically
indeterminate and stable & T

qH 379 Y Ad 3R 2l
3) Stable orft

4) Unstable 37 21T
Correct Answer: Unstable 3T
Ty

Candidate Answer: Statically indeterminate and stable &

T T8 39 T A 3R griy
QID : 161 - Which IS code gives details regarding water to be used in concrete?

F T HIUANN FHT ST Tol TTel) & HEST 7 PieT AT IS IS gaTUT &l AT 8?2

Options:
1) IS 456

2) 15383

3) IS 565

4) 1S 3012

Correct Answer: IS 456

Candidate Answer: IS 456



QID : 162 - Which of the below is an example of plasticizer?

T T WT F Y Pl oI TSR T Th 3GIEI0TR?

Options:

1) Hydroxylated carboxylic acid

T8 <N3iT Heles FIa AT W s 37

2) Fluoro-silicate dAR-F AR T

3) Gy

psum of JH

4) Sur

khi T

Correct Answer: Hydroxylated carboxylic acid 815
YT FoIS I 37T T ok 37 o

Candidate Answer: Hydroxylated carboxylic acid 15
Y3t Heles e 31T &Y oleh 3T o

QID : 163 - How many methods of batching of concrete are there?
F  TH I TITHA &F el d AT §?

Options:1)

2)

3)
4)

Correct Answer: 2

Candidate Answer: 6

QID : 164 - Concrete is generally placed on a:

F T INHIN W FY R I@T AT E:

Options:

1) Fo
rm work o A
CaE)

2) St
andCs

3) M
ould r@T

4) Pla
tform SIEThIaT

Correct Answer: Form work =T
HJ 1T
Candidate Answer: Form work s

HI T
QID : 165 - The effective width of a column strip of a flat slab is taken as

dCATFRAHTF A TSER A |

A



Options:
1) one-fourth the width of the

pane|ﬂaaa;a‘r§|éa;rwa’rmé

2) half the width of the panel

YTl o SIS o 3TemT

3) half the diameter of the

column T 3 ST ST T

4) the diameter of the column
Prold & o1

Correct Answer: half the width of the panel der

& TISTS T 37Ter

Candidate Answer: half the width of the panel Y7
F TisTS T 3MET

QID : 166 - Permanent dimension changes due to loading of concrete is termed as:

& T 3TeTel & SHRUT 3TATH H glet aTell AT T IacTel el g:

Options: 1)
Strain dh

c
d

2) E
xtent I

TATOT

3) C
reep

qaqor

4) A
mbit I &
Correct Answer: Creep 994907

Candidate Answer: Creep dHYUT

QID : 167 - In design of R.C.C. structures, the tensile strength of concrete is taken as:

IRATH. TRTAAT HSABAH, & T defe] AT I Hd T H oI AT ST &

Options:
2

1) 5N/mm

2) 2N/mm?

3) 0.3N/mm

4) None of these 378 & HIS g

Correct Answer: None of these
SAH U PIs o8

Candidate Answer: None of these eT3T

AP 8
QID : 168 - Flexure strength of concrete is determined as:
§ T F dhed HIH T PN HT T H o187 I AT ST 8

Options: 1) Modulus of
rigidity ST 3197 ofoeh



2) Modulus of
rupture 3FT3TUI h

3) Modulus of
pIasﬁcityﬂTmTE'TU;r
oo

4) Modulus of

elasticity JT AT 3107 o
Correct Answer: Modulus
of rupture a7 g oo

Candidate Answer: Modulus of rupture )
IMOT TR

=l
QID : 169 - Properties of concrete can broadly be divided into:
& & HgeToT 10T 73 TT OT kel GIOR BIcT 82

Options:
1)1

2)4
3)2
4)3
Correct Answer: 2

Candidate Answer: 3

QID : 170 - Which IS code gives specifications about cement plaster?

HIT ATIS I3 T F ITH & TR A T AU AT ?

Options:
1) IS 1500

2) 151221

3) IS 1400

4) 1S 1661

Correct Answer: IS 1661

Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In a lime-cement plaster, ratio 1:1:6 corresponds to:

eA-HIHE oh ol & H, 1:1:6 0Tl hlieh T A EITT &

Options:

1) Lime:cement:s
and T&AT: HIHE: &Te

2) Cement:Lime:s
and HIHC: TAT: STe]

3) Lime:sand:grav

el G A Sl 4)
Cement:sand:gravel HHAC:

Tef; ISR

Correct Answer: Cement:Lime:sand HIHE:

el §Te]
N N



Candidate Answer: Cement:Lime:sand H1#¢:

TYedT: SlTef
LY LN

QID : 172 - On which of the following does the correct proportion of ingredients of concrete depend upon?
ATTGIATFIRF T HIH < hTFET ]Il T8 AT 82

Options:

1) bulking of

sand STe] T Yelol

2) water content

qlalT & AT of

3) absorption

and workability 3rgenyoT

AR grar

4) All option are

correct ST TR THET &

Correct Answer: All option are correct THT

CERR NS
Candidate Answer: All option are correct Tsfr
FHEIHEF QID: 173 -

If X,Y and Z are fineness moduli

of coarse fine and combined
aggregates, the percentage

(P) of fine aggregates to combined
aggregates is

3R A, A 3R FAfea 9o &
geAar qoiE X, YA Z & ar #de g 3k
GAferd gor @1 gfaera (P)§

1P = Z£ x100
Z-y
2P = == x100

3P = 2Z x100
Z+Y
X+Z

4P =22 %100
Z—Y

Options:

1) [
1] Only &
def [1]

2) [
2] Only &
gdT [2]

3) [
3] Only &
def [3]

4) [
4lonly &
def [4]



Correct Answer: [2] Only £
dol [2]

Candidate Answer: [2] Only *
gdT [2]

QID : 174 - Which of the following statements is false?

AT T GT A Y BT AT HUA eI &2

Options:

1) Workability of the concrete mix decreases with an increase in the moisture content qNFH
ATCTAY HGEREED T % H U1 o G A 81 STl &

2) Concrete for which preliminary tests are conducted, is called controlled concrete FT
STHE T <1 7 T UTHT ST §, 7 J & T Fgelldl &

3) Bulking of sand depends upon the fineness of grains

ST T YeAeT 0T & T HAT O IR AT &

4) All option are correct m-ﬁwcmﬁrg

Correct Answer: All option are correct T

JHEITEE
Candidate Answer: Workability of the concrete mix decreases with an increase in the moisture content 7T & #T
oTHY A FATTH T & H U & G e G STl &

QID : 175 - Which of the following statements is false?

TT T T H Y Pl T HUT AT &7

Options:

1) Space between the exterior walls of a warehouse and bag piles should be 30 cm
HSITE & T & I 3T el & ST & Y o7 UTeT 30 A gl AT BT

2) Cement bags should preferably be piled on wooden planks T H T
JTACNR TR STREY o T I T@T ST a1 §T

3) Cement bags should be placed such that bags of one layer does not touch the
bags of the adjacent layer AT * ﬁﬁﬁwwwmmmmﬂaa:wm Srck
3T Ol T o P

4) None of these saﬁ#aﬁ%‘a‘s'

Correct Answer: None of these

TR A IS 6



Candidate Answer: Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer e & deaT vt
FH R I 1A °T gV & el o Ueh el el & 3718 e &l o §T

QID : 176 - Which of the following statements is false?

AT TGT A Y BT AT HUA T &2

Options:

1) With passage of time, the strength of cement increases TAI S
Y, HACHF AT A G g

2) With passage of time, the strength of cement decreases THAI &
|1, §AT FAH T gedTg

3) After a period of 24 months, the strength of cement reduces to

50%
24 HTE & 379 ¥ & d1c, WHAT & TTH T H 50% & HAT 8 STl & 4) The concrete
made with storage deteriorated cement gains strength with time ﬁ's'TTEFTIé'H'\‘:ﬁﬂ'C
<RI FTS IS & THAT F AT AA T T T I &

Correct Answer: With passage of time, the strength of cement increases qAI &

Y, WA F AT A GGIE
Candidate Answer: The concrete made with storage deteriorated cement gains strength with time 38R & 15
FHHT ORI TS IS &H THATF AT AH T T T FIAT &

QID : 177 - For a concrete mix 1:3:6 and water cement ratio 0.6 both by weight, what is the quantity of water required per bag?
& THUT1;3:6 3R el HIHT 3T 0.6 Aol R <:RT & AV, o Aell STel o AT T ATE?

Options:
1) 10 kg
10 Fell

2)12 kg
12 Fell
3) 14 kg
14 Far

4) None of these 3sT8

LIRS

Correct Answer: 14 kg

14 Felt

Candidate Answer: None of these SsT8

LIRS

QID : 178 - Transport of concrete by pumps, is done for a distance of
99 R 5 & $ T T IG6aT, el {1 & oIT AT ST &

Options:
1) 100 m
100 Hrex

2)200 m
200 #eX

3)300 m
300 #Hex

4) 400 m
400 FEX

Correct Answer: 400 m



400 HreX

Candidate Answer: 100 m

100 Hrex

QID : 179 - The compression in PSC is done by of high-strength tendons.
PSC H § WISsT 3 T-H1H T aTel TR & <R AT AT
Options:

1) Com

pression g iz

2) Tensi

oning deleiTetoT

3) Shear

ing 319 9OT

4) Bendi

ng EET)

Correct Answer: Tensioning delailehi0T

Candidate Answer: Tensioning deleiTeh<0T

QID : 180 - In which beam tension capacity of steel is greater than combined compression capacity of steel and concrete?

8 SH A G I 1 TeATd 1A T 3 T AR T o T3 STl § GseT HH I o Jolell H 37 U lerg?
Options:
1)Over-reinforced 37
W—'{[E
2)Under-reinforced shd-
qc
Pl
3)Singly reinforced Tehel
grz‘:
4)Doubly reinforced {I"
<
Correct Answer: Over-reinforced 31
?J'GF-{I"E
Candidate Answer: Under-reinforced A
[

QlD:181-



If w is total load per unit area on a panel,
D is the diameter of the column head, L is
the span in two directions, then the sum of

the maximum positive bending moment and
average of the negative bending moment for

the design of the span of a square flat slab,
should not be less than

IR el W Fel AR I 315 &7 W, TdsT &

N &1 g DE, o Remt & e (8, @) aafeR

AT Herd & dic A Bemsa & v fwaa
ATCHS adhel  ITHUT AR HUMCHS dohel T &
Jtaa F1 ATHe Y FA AGT glell AIgT

NEE-2) BT

C1%(L-2)" D]%2(L-2)

Options: 1)
A Only
FIAA

2) B Only
F T B

3) COnly
FaAC

4) D Only
FIAD

Correct Answer: C Only *

gel C
Candidate Answer: [ NOT ANSWERED ]

QID : 182 - For a circular slab carrying a uniformly distributed load, the ratio of the maximum negative to maximum positive radial moment is
Teh g <IN Feleh ST O TehEHTe T & 8 Tl § & ofT, 37 Tehcld UTT Heh A 37 Ueheld a1 Heh Y ST JTEOT T 30Tl &

Options:
1)1

2)2

3) 3

4) 4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID:183 -



If permissible compressive stress in concrete
is 50 kg/cm?, tensile stress in steel is
1400 kg/cm? and modular ratio is 18, the

depih of the beam is

IR FHIE H AT FFdsa gfcaer 50
A2 8, srarg & aerer wfaeer 1400
faramae2 § 3k wardw e 18 g,
ar i\ Fr s

Options:
1) [
1] Only &

del [1]

2) [

2] Only &

gef [2]

3) [

3] Only &

ddl [3]

4) [

4] 0nly &

gef [4]

Correct Answer: [1] Only &
dol [1]

Candidate Answer: [4] Only &
gef [4]

QID : 184 - The breadth of a ribbed slab containing two bars must be between

21 B3 a1l U1K Holeh & dISTS ST o1 il =1 T

Options:
1)6cmto 7.5cm

6 THT T 7.5 HHAT
2)8cmto 10cm
8 JHA A 10 GH
3)10cmto12cm
10 9T & 12 |

4) None of these o1&
ARG



Correct Answer: 8 cm to 10 cm

8 [T & 10 THY
Candidate Answer: [ NOT ANSWERED ]

QID : 185 - A foundation rests on which of the following?

ATATTTTAT HHW I dEATE

Options:

1) base of the
foundation o7 @ =T
YR

2) sub grade
3q dofy

3) foundation
soildTdh H

4) Both Sub

grade and foundation
soil 3T AT AR ATH

A
Correct Answer: Both Sub grade and foundation soil 39307
IRTTFHST Candidate Answer: Both Sub grade

and foundation soil 3T T AR T T F AT

QID : 186 - Which of the following statements is true?

AATTT T A PT AT RIS T T E?

Options:
1) To ensure uniform pressure distribution, the thickness of the foundation is kept uniform throughout

THHHAT ST TA0T Y Ad Fod % AT, 7 T & <NSTS G e & ThFAT T STl §

2) To ensure uniform pressure distribution, the thickness of the foundation is increased gradually towards the edge

THHA &1d TROTY F T A & AT, AT F A ADR F INAA TR G grehr e g

3) To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge

THHHAT ST 0T Y 7 o el o oIV, 7 T & <NSTS 7 BR & ISl T MR- ol gielr Srer

4) To ensure uniform pressure distribution, the thickness of the foundation is kept zero at the edge UhHHTT ST TAROTF =T T & T, BRI
AT F e LT AT §

Correct Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge TehdHTeT GTsT

RO YA o He & o, 7 F A A BR % 3R A THR-LR Falr el s §

Candidate Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge TshdHTeT CTd

FROTY A o He & T, o T & A3 7 BN & IR TIR- R FA gIedr e §
QID : 187 - The weight of a foundation is assumed as which of the following?

TTTTTH Y FY o T T TR HAT AT E?

Options:
1) 5% of wall weight

& I & Tl T 5%

2) 7% of wall weight

& I F Il I 7%

3) 10% of wall weight & &Y & doTeT 3T 10%
4) 12% of wall weight & G & Toiel T 12%
Correct Answer: 10% of wall weight &

T o Tofed I 10%

Candidate Answer: 10% of wall weight &
T o Tofed I 10%



QID : 188 - If the width of the foundation for two equal columns is restricted, the shape of the footing generally adopted is

3R Y SR JH F AT d & SIS e & o 315 &, ol JTHT T T A TR T 3MHR AT g

Options:

1) Square
ddr

2) rectang
ular 3TTIATRR

3) trapezoi
dal IYH TINT
4) triangul
ar SIOTRT

Correct Answer: rectangular Tl

Candidate Answer: trapezoidal aYH
AP

QID : 189 - Maximum shear stress theory for the failure of a material at the elastic limit is known as

T U AT IR F1H <Y & Theldl o T 3T ThdH 31T JUT deol I 57 T 7 8 ST ST g

Options:
1) Guest’s or Trecas’ theory
AT IFE T ofod
2) StVenant’s theory §C
AATT FTF oTod
3) Rankine’s theory A FeT
FH oTod
4) Haig’s theory
BRI crod
Correct Answer: Guest’s or Trecas’ theory Ac
T SR F ofd
Candidate Answer: Haig’s theory &1

A simply supported beam carries a varying
load from zero at one end and w at the
other end. If the length of the beam s a,
the maximum bending moment will be

TATT FT A AT A F TH SR FT AT we
AR WL O FT 9 w gl 3R fI7 H
S a g, ar AReaE e e gen
wa
A];
wa?

27

w?a
%
]wa2

93



Options: 1)
A Only &
doT A

2) B
Only Fael
B

3) C
Only Fael

a) D
Only Fael
D

Correct Answer: D Only &

del D
Candidate Answer: [ NOT ANSWERED ]

QID : 191 - When not specified, the volume of steel in R.C.C. work is taken as:-

SIS A & A &, dl 3IRATET 1 7 T o o A TATSTATE |
Options:

1) 1% to 1.6% of R.C.C.

volume 3TREHT 3T T 1% W 1.6%

2) 2% to 4% of R.C.C. volume
SR 31T T 2% 8 4%
3) 4% to 6% of R.C.C. volume

ST 3T FT 4% T 6% a)

0.6% to 1% of R.C.C. volume 3TRITET

3T HT0.6% ¥ 1%

Correct Answer: 0.6% to 1% of R.C.C. volume 3TREY
3T HT0.6% ¥ 1%

Candidate Answer: 2% to 4% of R.C.C. volume 3TREIEY
3T 2% H 4%

QID : 192 - The ratio of maximum shear stress to average shear stress of a circular beam is:
A.2/3
B. 3/2
C. 3/4
D. 4/3
g T 1 T 37 ehcl# 37T quT dee 3R 3R 39
qUT elel 2T 31Tl &

A.2/3
B. 3/2
C.3/4
D. 4/3



) A Only
FITA
2) B Only
HTAB
3) COnly
FIAC
4) D Only
FHITAD
Correct Answer: D Only F
del D
Candidate Answer: B Only F
del B

QID : 193 - The property of a material by which it can be beaten or rolled into plates, is called

AT <Y BT O] ST RT3 N H AT GATRT A FeATE 1T Aehell §, FEATT &
Options:
1) ductility T IdT
2) plasticity
oIl Tehdl
3) elasticity IT
T
4) None of these

S S o

Correct Answer: None of these 3sTY
ARG A8

Candidate Answer: ductility d

IJar

QID : 194 - What is the limit to Poisson's ratio?

SIS HaT % 3FeTUTc o HIAT AT §?

Options:
1) 0.1
2) 0.2
3)0.3

4) None of these I8 ¥ HIS =g

Correct Answer: None of these 3sT8Y

LEIEE

Candidate Answer: 0.3

QID : 195 - Among the following, which is least elastic?

TTTTT H A P, TIH HF T T BATE?
Options:
1) Iron F—ﬁB’

2) Copper IR

3) Both Copper
and Silver

HIR 3R T T
4) Rubber S5



Correct Answer: Rubber 3dg

Candidate Answer: Both Copper and Silver FIIT

R TEd e

QID : 196 - Two bars of different materials are of the same size and are subjected to same tensile forces. If the bars have unit elongations in the ratio of 4 : 7, then the ratio of
modulius of elasticity of the two materials is

A. 4:7
B. 4:10
C. 16:49

q 97 1A <1 o &1 B8 TH TR & & AR 37 TR FA Tofol o 3R U FATSAI ¢ | T & BF T SIS & 6 FHIOT 3T 4:7 H E, A SleT HIH <7 T o IT T 19
<5 T T §

A. 4:7
B. 4:10
C. 16:49

)AOnIyﬂ*T
deTA

2) B
Only & gel
B

3) C
Only & gel

4) N
one of

these ST
AHIS TE

Correct Answer: None of these 3sT3Y
ARG A8

Candidate Answer: A Only &

del A

QID : 197 - If a composite bar of steel and copper is heated, then the copper bar will be under:

T3 U AR FR F Y B HI IH HAT ST 8, AN HIOR F DS 5D e giaf

Options: 1)
tension
Goic)

2) she
ar 319 9or
3) tor
sion TIeT

4) No
ne of these

AT IS
)
Correct Answer: None of these SsT8Y

LIRS

Candidate Answer: [ NOT ANSWERED ]



QID : 198 - Pick up the incorrect statement from the following : The torsional resistance of a shaft is directly proportional to

T o el 3 Y eI HUeA GoT: AT T T ARG el YT Hieh FATT AT Gl &

Options:

1) modulus of rigidity T
Aoy T

2) angle of twist %’J:l'la'
T

3) reciprocal of the

length of the shaft ?TTEEF?TSI'I?QF
4) moment of inertia of

the shaft section. ?TT?.'}F_!STI?TW

7S aToT

Correct Answer: moment of inertia of the shaft section. 2if &
SN 1 7 AT

Candidate Answer: reciprocal of the length of the shaft 2T &

& olaTS % ¢ Hearelr
QID : 199 - Net sectional area of a tension member, is equal to its cross section area

TATa 3T 1 % o T TG 2 e, 38eh ohel T DG 3 Bel [
Options:

1) plus the area of the rivet holes IRWersFd
el o T & sRTET Eﬂ?—ﬂ%’ 2) divided by the area of rivet
holes ST AT & & Tl I THT ST Hleh o F HAT AT &
3) multiplied by the area of the rivet holes FIWCHFTH
Wfﬁ?l'u;l' T ¥ oT T T STIF!T%'4) minus the area of the
rivet holes 3T TAC & B o < Tl T TCTAT T d HAT AT &
Correct Answer: minus the area of the rivet holes 3T

AT H T & < el I TETH T T HATSATAT &

Candidate Answer: minus the area of the rivet holes 3T

AT H T & < el I TTH T T HATSATAT &

QID : 200 - When a tension member consists of two channel sections, the allowance for rivet hole is made for two holes from

AT 3T H &Y Aol IFHTT Gl W, W F S HATHR - & S & T AT AT &
) each web 3

g

2) each flange ¥ FAR

3) each web or one hole from each flange whichever

is more ek A TT Yeh FeTR I Ueh & oif 3T 37 erah &1

4) each web or one hole from each flange whichever

is less A AT AT A FeIR U T & i AT woA 8T
Correct Answer: each web or one hole from each flange whichever is less Jeh d&
IT Ak FoTR W Tk T Sl S FA &

Candidate Answer: each web J&
g



